
99? 39? 
41?
39 или 42?
29 или 39?
90 или 88?

Отправляемся 
В ЦИРК!



В ЦИРК!

Урок-путешествие. Математика. 2 
класс
Закрепление вычислительных 
навыков 
сложения и вычитания в пределах 
100.
Учитель ГБОУ школы №411 
«Гармония»

Глазова Елена Викторовна



Цифры в ссоре
1, 10, 9, 20, 

15, 2,
8, 11, 16, 4, 6, 
5, 13, 19, 17, 

3,
12, 14, 18, 7



57      6     6 = 
57
36     4      8 = 
32 
36      4     8 = 
48
80     9      9 = 
98   
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Задача
На хв. – 10 п.
На сп. – на 6 п. >  ?

1)10 + 6 = 16 
(п.) – 
на спине
2) 10 + 16 = 26 
(п.)
Ответ: 26 полос 
у тигрёнка.
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24, 30, 32, 34, 36, 48, 62, 80, 85, 
95,100
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МОЛОДЦЫ!


